Solution to Puzzle #178 — March, 2016 '"Entanglement"

The omitted letters (in parentheses in the list below) spell
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SPOOKY ACTION AT A DISTANCE

Across
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ALBERT
(S)OLID
S(P)READ
(O)PERON
ST(O)AT
STUDENT
PUBIS
APART
MOBILE

. TAN(K)
. (Y)ARE

. DACE

. SALIV(A)

. AMEND

. IMPUTE

. (C)UTE

. ROGE(T)

. UNARMED
. ERUPT

. TISANE

. FANAT(I)C
. GESS(0)

. SIIN)BAD

. EINSTEIN

Down
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24.

ARABIC
(A)DORABLE
TI(T)LE
IGU(A)NA
BASS
ESME
PA(D)DED
TATA
PUTTER
PUPAL
UN)T
CITED
ANITA
(S)IGNORE
(T)RAVERSE
S(A)LON
TRAUMA
STINT
MEM
TENSED
SPO(N)DEE
DESIST
(C)UBAN
REFIN(E)

Kevin Wald solved the puzzle in 35 minutes.



